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&5 R 4 ﬁq‘é}f Tﬂn“ﬁb\(ﬁf)ﬂﬁ’ﬁﬁ 73&3%‘5 R 4 Tﬂﬁﬂg\%‘z(ﬁ;k$ ?'%;f 73&3%‘5 X 4 ;'%r_'né) J:ﬂﬁuﬁﬁ‘(i)a)tt% jj(ﬁ?ﬁ)é X 4 J:ﬂﬁuﬁﬁ‘(i)a)tt% ;.%‘m? ﬁﬁﬁié
; 100kN/ Mm% Z % - -~ - -|3mEBRB| 0.00 ~ 054 | 364 19.49 | 100kN/m%EB A% - -~ - -|3mZEBZB| 1000 ~ 1755| 5.64 19.49
zh st 1.00 | 0.00 ~ 466 58.05 | #n4s | 054 ~ 466 3.00 16.05 zhst 1.00 | 500 ~ 1755 58.05 | Fhds | 5,00 ~ 1000| 3.00 16.05
2 100kN/ mM%EBZ 5 - -~ - -|13mZEBZB| 000 ~ 076 | 4.09 21.88 | 100kN/m#%#8 %% - -~ - -|3amEBZ D] 5.00 ~ 1788 4.09 21.88
zh st 1.00 1000 ~ 288 3724 | 4 | 076 ~ 288 | 3.00 16.05 zThs 1.00 | 500 ~ 1788 37.24 | ThS | 500 ~ 5.00 | 3.00 16.05
3 100kN/ Mm% Z % - -~ - -1 3mEBRB| 000 ~ 049 | 3.567 19.09 | 100kN/m%E#8Z 3% - -~ - -|3mZEBZ S| 1000 ~ 1756 357 19.09
zh st 1.00 | 0.00 ~ 502 62.53 | FnRS | 049 ~ 502 3.00 16.05 zhst 1.00 | 500 ~ 1756 62.53 | NS | 5.00 ~ 1000| 3.00 16.05
4 100kN/ mM%EBZ 5 - -~ - -13mZEBZB| 000 ~ 084 | £31 23.05 | 100kN/m#%#8 %% - -~ - -|amEBZD| 5.00 ~ 1879 451 23.05
zh st 1.00 | 000 ~ 242 30.57 | FnS | 084 ~ 242 3.00 16.05 zThs 1.00 | 500 ~ 1879 30.57 | TR | 500 ~ 5.00 | 3.00 16.05
5 100kN/ mM%EBZ 5 - -~ - -13mZEBZB| 000 ~ 091 452 24.18 | 100kN/m#%#8 %% - -~ - -|3amEBZD| 5.00 ~ 1865 452 24.18
zh st 1.00 | 0.00 ~ 246 24.56 | RS | 091 ~ 246 | 3.00 16.05 zThs 1.00 | 500 ~ 1865 24.56 | #hst | 5.00 ~ 5.00 | 3.00 16.05
6 100kN/ Mm% Z % - -~ - -|13mEBAB| 000 ~ 020]| 320 17.11 | 100kN/m%E#8Z3% - -~ - -|3mZEBZB| 1600 ~ 1714 | 3.20 17.11
zh st 1.00 | 0.00 ~ 686 86.82 | Fhs | 0z20 ~ 686 3.00 16.05 zhst 1.00 | 500 ~ 1714 86.82 | ThS | 500 ~ 1500 3.00 16.05
- 100kN/ Mm% Z % - -~ - -|3mEBRB| 000 ~ 014|813 16.74 | 100kN/m%E8Z 3% - -~ - -|3mZEBZB| 1600 ~ 1664 | 313 16.74
zh st 1.00 | 000 ~ 712 90.40 | #n4 | 014 ~ 712 3.00 16.05 zhst 1.00 | 500 ~ 1664 90.40 | ThnS | 5.00 ~ 1500 3.00 16.05
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
zhst ~ zhst ~ zh st ~ zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
zhst ~ zh st ~ zh st ~ zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
zhst ~ zhst ~ zh st ~ zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
zhst ~ zh st ~ zh st ~ zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
zhst ~ zhst ~ zh st ~ zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
zhst ~ zh st ~ zh st ~ zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
zhst ~ zhst ~ zh st ~ zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
zh st ~ zh st ~ zh st ~ zh st ~
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